Lesson 10.5 Worksheet Name: \Lt\{

Events A and B are independent. Find the indicated probability.

1.) P(A) = 0.4 2.) P(A) =§
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Events A and B are dependent. Find the indicated probability.
5.) P(A) = 0.7 6.) P(A) =§
P(B|A) = 0.5 P(B|A) =7
P(Aand B) =7 P(Aand B) = %
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P(A and B) = 63% P(Aand B) = 0.2
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Let n be a randomly selected integer from 1 to 40. Find the indicated probability.
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Find the probability of drawing the given cards from a standard deck of 52 cards (a) with
replacement and (b) without replacement.

13.) A club, then a spade 14.) A queen then an ace
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17) A kmg, then a queen, then a jack 18.)A spade then a club mep another spade
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19.) Each drawer in a 5-drawer file cabinet has 50 folders. You are searching for some

information that is in one of the folders, but you do not know which folder has the
information.

a.) What is the probability that the information is in the first drawer you choose?

P (1% dorower) - \a :E._ﬂ

b.) What is the probability that the information is not in the first folder you choose?
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c.) What is the probablllty that the ci7nf?)rmatlon is not in the first six folders you choose?
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20.) Angela usually rushes to make it to the bus stop in time to catch the school bus, and will
often miss the bus if it it early. The bus comes early to Angela’s stop 28% of the time.
What is the probability that the bus w1ll come earl at least once during a 5 day school
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21.) The probability of selecting a rotten apple from a basket is 14%. What is the probability of
selecting 3 good apples when selectmg 1 apple from each of 3 different baskets?
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